

09/08/2020

Page 1 of 1

Vendor Ranking

Letting: 08200825 August 25, 2020 02:30 PM **Call Order**: 001 **Contract**: E8S67-R0

District: Turnpike Counties: LAKE, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS ORANGE, OSCEOLA, Project(s): 41696317B19 (*)

Contract Pine: 300 CALENDAR DATO

SEMINOLE, ST LUCIE,
SUMTER

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	LAFLEUR NURSERIES AND GARDEN CE	Responsive	Winning bid	\$219,180.00	100.00% Intent to AV
2	CATES TRACTOR SERVICE LLC	Responsive	Non-Winning Bid	\$233,279.80	106.43%
3	AERO GROUNDTEK, LLC	Responsive	Non-Winning Bid	\$281,442.24	128.41%
4	OASIS LANDSCAPE SERVICES, INC.	Responsive	Non-Winning Bid	\$301,338.00	137.48%
5	ARAZOZA BROTHERS CORPORATION	Responsive	Non-Winning Bid	\$539,356.00	246.08%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: SEPTEMBER 8, 2020 AT 4:00 PM





Tabulation of Bids

Page 1 of 5

Letting: 08200825 Contract: E8S67-R0 August 25, 2020 Call Order: 001

District: Turnpike Fed Aid No: N/A Counties: LAKE, MIAMI-DADE,

ORANGE, OSCEOLA. Contract Time: 365 CALENDAR DAYS **Project(s):** 41696317B19 (*)

Contract Descr: Mowing and Landscape Maintenance at Various Location SEMINOLE, ST LUCIE,
The work specified in this Contract consists of providing all labor materials. SUMTER The work specified in this Contract consists of providing all labor, materials, equipment, and incidentals necessary to perform landscape maintenance of palms, trees, shrubs, ornamental grasses and ground cover, fertilizer application, chemical insect/disease control, weeding, mowing, herbicide application, mulching, mowing, site clean-up, tree and shrub trimming, power shearing and planting beds at various Turnpike facilities including Toll Plazas, Hub Buildings and Communication Towers located on the mainline of Florida's Turnpike (SR 91) Milepost (MP) 172.0 to 309.0; Martin Andersen Beachline Expressway (SR 528), MP 0.0 to 32.0; Seminole Expressway (SR 417), MP 37.7 to 55.0; Southern Connector Extension (SR 417), MP 0.0 to 6.5; Daniel Webster Western Beltway (SR 429), MP 0.0 to 43.0 and the Wekiva Parkway (SR 429).

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

	e No / Item ID Altern	ate Quantity Units	(1) LAFLEUR NU GARDI		(2) CATES TRAC		(3) AERO GRO	DUNDTEK, LLC
	dicates item is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(SODDING (SY						
0005 PERFC	0570 1 2 DRMANCE TURF, SOD	400.000 SY	4.00000	1,600.00	20.00000	8,000.00	9.00000	3,600.00
0010 MOWIN	E104 4 3 NG (SMALL MACHINE)	443.520 AC	200.00000	88,704.00	110.00000	48,787.20	172.00000	76,285.44
0015 LANDS	E580 3 2 CAPE MAINTENANCE (AC	678.240 RE) AC	150.00000	101,736.00	240.00000	162,777.60	195.00000	132,256.80
0020 TREE F	E580332 20 REMOVAL (LESS THAN 4")	5.000 EA	50.00000	250.00	40.00000	200.00	100.00000	500.00
0025 TREE F	E580332 21 REMOVAL (4" TO 12")	10.000 EA	200.00000	2,000.00	50.00000	500.00	500.00000	5,000.00

Page 2 of 5

09/08/2020

Tabulation of Bids

Florida Department of Transportation

Lettir	ng: 0	8200825	August 25, 202	0 Cal	II Order: 001		Contract:	E8S67-R0		
	e No / Item ID n Description	Alternat	e Quantity Units		(1) LAFLEUR NURSERIES AND GARDEN CE		(2) CATES TRACTOR SERVICE LLC		(3) AERO GROUNDTEK, LLC	
() it	ndicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	SECTION:	0001	(SODDING (SY							
0030 TREE	E580332 22 REMOVAL (13"	' TO 24")	5.000 EA	250.00000	1,250.00	75.00000	375.00	1,300.00000	6,500.00	
0035 TREE	E580332 23 REMOVAL (25"	' TO 36")	2.000 EA	500.00000	1,000.00	80.00000	160.00	2,400.00000	4,800.00	
0040 TREE	E580332 24 REMOVAL (37"	' TO 48")	2.000 EA	800.00000	1,600.00	200.00000	400.00	4,900.00000	9,800.00	
0045 TREE	E580332 97 TRIMMING		500.000 EA	40.00000	20,000.00	20.00000	10,000.00	75.00000	37,500.00	
0050 HERBI	E580337 6 CIDE (HAND A	PPLICATION)	1.040 AC	1,000.00000	1,040.00	2,000.00000	2,080.00	5,000.00000	5,200.00	
	0001 SO	DDING (SY) S	Section Totals:		\$219,180.00		\$233,279.80		\$281,442.24	
		Contract G	rand Totals:		\$219,180.00		\$233,279.80	_	281,442.24	



Page 3 of 5

Florida Department of Transportation



Tabulation of Bids

Letting	g: 08	3200825	August 25, 2020	Cal	l Order: 001		Contract:	E8S67-R0	
	Line No / Item ID Alternat Item Description		e Quantity Units		(4) OASIS LANDSCAPE SERVICES, INC.		(5) ARAZOZA BROTHERS CORPORATION		
	dicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY						
0005 PERFO	0570 1 2 RMANCE TUR	F, SOD	400.000 SY	3.00000	1,200.00	18.00000	7,200.00		
0010 MOWIN	E104 4 3 IG (SMALL MA	CHINE)	443.520 AC	275.00000	121,968.00	450.00000	199,584.00		
0015 LANDS	E580 3 2 CAPE MAINTE	NANCE (ACR	678.240 E) AC	250.00000	169,560.00	300.00000	203,472.00		
0020 TREE R	E580332 20 REMOVAL (LES	SS THAN 4")	5.000 EA	50.00000	250.00	200.00000	1,000.00		
0025 TREE R	E580332 21 REMOVAL (4" T	⁻ O 12")	10.000 EA	175.00000	1,750.00	500.00000	5,000.00		
0030 TREE R	E580332 22 REMOVAL (13"	TO 24")	5.000 EA	350.00000	1,750.00	1,000.00000	5,000.00		
0035 TREE R	E580332 23 REMOVAL (25"	TO 36")	2.000 EA	800.0000	1,600.00	2,500.00000	5,000.00		
0040 TREE R	E580332 24 REMOVAL (37"	TO 48")	2.000 EA	1,250.00000	2,500.00	5,000.00000	10,000.00		
0045 TREE T	E580332 97 RIMMING		500.000 EA	1.00000	500.00	175.00000	87,500.00		



09/08/2020

Tabulation of Bids

Page 4 of 5

Lettin	g : 0	8200825	August 25, 202	0 Ca	II Order: 001		Contract:	E8S67-R0	
Line No / Item ID Alternate Quantity Item Description Units			* *	(4) OASIS LANDSCAPE (5) ARAZOZA BROT SERVICES, INC. CORPORATION					
() indicates item is bid		id as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY						
0050 HERBIC	E580337 6 CIDE (HAND A	PPLICATION	1.040) AC	250.00000	260.00	15,000.00000	15,600.00		
	0001 SO	DDING (SY)	Section Totals:		\$301,338.00		\$539,356.00		
		Contract (Grand Totals:		\$301,338.00		\$539,356.00		



09/08/2020

Tabulation of Bids

Page 5 of 5

Letting: 08200825 A

August 25, 2020

Call Order: 001

Contract:

E8S67-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.